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Important Instructions
for Multiple Cheice Question (MCQ)

* Write Subject Name and Code, Eagistration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper [TI-A (MCQ) and II-B [Descriptive).

Subject Code : | [A|& (B

Subject Name :

* Cangdidates are requirad to attempt all questions (MCQ). Below each
gquestion, four alternatives are given [Le (A}, (B), (C), (D]]. Only one
of these alternatives 1= '"CORRELT answer The candidate has to writs
the Correct Alternative [Le. (A)EBEV(C)/(D)] against each Question Ne.
n the Answer Script.

Example —If altematrve A of 1 i= correct then wrte .
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® There is no negative marking for wrong answer
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Paper Code : IV - A

Full Marks: 20 Time : Thirty Minutes
Choose the correct answer.
Each question carmes 2 marks.
Answer of the questions. 10=2=20
| Urbanzation —

|2

L

(&) Has been the cause of mdusmalization
(B) Stamed as a result of modem mdustriabizanon
(C) Existed in India before ndustalization and the western mpact
(D) All of the above
. Which theonst speaks of ‘Urbantsm as 2 way of hi='?
(4) Karl Marx
(B) Lows Wirth
(C) Homesr Hovt
(D) Peter Burgess

. The process of urbamzanon is charactenzed by
(A) Development of trade
(B) Development of centrss around 2 aty
(C) Rural to Utban Migsation

(D) All of the above



(]

4. Which of the followmng s not an ancient city of India?
(A) Madirai
(B) Hamp:
(€) Chandigarh
D) Upanr
. Urban cornmumty 15 chardciensed by —
(A) Homegenenty
(B) Agncuiture
(C) Informal r=iationship
(D) Social complexity
. Which of the followms s less m urban 7
(A) Loss of humamsne valus
(B) Impersonal relanonship
(C) Informal relationship
(D) Compenton
. The degree of urbamsation of any grien commumify 15 mdicated by s —
(&) Populanen size
(B) Population density
(€) Population heterogenesy
(D) All of the above
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£ The Minmmum Wages Act came mto force i the vear
(A) 1920
(B) 1248
(C) 1200
D) 1720
9. What ar= the funchons of trade umons?
(A) Protecnon and secunty of workers
(B) Wage bargammg
(C) Labour welfare
(D) All of di= above

10. Which trade policy lsad to the increase in impost of goods 1n India?

(A) Trade Liberalizanon
(B) License Rat

(€) Far Trade

(D) All of the above
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Pt

!-rJ

(=)

The figures in the mavgin indicate full marks.
Group-A
Answer any fMe questions, takang at least nvo from each sscnon. 1243=59

Section - |

- Defiie Urban Sociology. Discuss the nature and scope of Urban Sotiologw

4+5=12

Discuss the pattems of classification of Indian tovwns and cities m terms of their

size and funchion dunng pre-indspendent era 12

Write an essay on the mayor urban problems in India 12

“Urbanism is a wav of lifs” — Elsborare. 12
Section - 11

. What 15 Indusmalizatien? Discuss ts mmpact on famlby 44812

What are the major impediments of mdustnalizanon m India” Discuss 12

Discuss in brief the changing social backeround of Indian labour 12
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§ What 1z hiberalization” Ase=ss the major mmpacts of liberalization en Indian
Industre 12

Group-B
9 Answer any four questions from the following S=4=20
(4) Distinenish betwacn Ruial dnd Usbari Sotity. 5

(b) Identify the major factors contributing to the srowth of shums m India
5

(¢) Discuss the role of push and pull factors as a process of wbanizanon

3
{d) Dhscuss the nanire of urban farmily. 3
(@ Tderitify the social factors Of abserttiam. 5
(R Witk a brief néte on liberalization, Privatization and Globalization (LPG).
b
{g) Write m bnef formol and micmal cfpanzahon 5
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